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Q.3

[3 Hoursl

Answer briefly. Each question carries 05 marks. §
a Define Surveying. Classify surveying on the basis o
b Differentiate between Whole circle bearing (WCB»fgrE"&éﬁ
the WCB, what would be the reduced bearing mﬁé\}ll-.\?qﬁ);ﬂ\
¢ Define: i) Chainage .ii) Backsight. iii) Interme&' a?grmgh 47? IQ&?EQ f‘
d A tacheometer has a diaphragm with mreg;\@@ﬁhﬁ‘lgx,sp@beﬁ,a‘?
The foca! length of the object glass is 20°ciii a?uf ‘fh% anced
trunnion axis is 10 cm.Calculate the taﬁhé&fheﬂi ¢ p@ugf;tﬁst

a
aside were obtained. Determine’ whtch
of the stations are affected by Jocal
attraction and give the yra__lpe_ﬁ of the [ F.F 316°40’
136°0°
b 1\11‘1}3 ground levels at 100 10
iL-_J;“E«‘TSl 2.150.6,(149.2)B.The
gradlent of 1 in 40 from A to B.
xAssume the ground to be level in ¢/s .
SN (20)
a ;mis'gihg data. Apply the usual checks. 12
["Fail | RL Remarks
i 450.000 BM
?
2 2
e
0.400 ?
451.730
? Inverted staff rdg
? ?
449.100
netf: on dlfferent axes of a theodolite and their interrelationships for the 08

; rument to be in perfect adjustment alongwith a neat sketch.
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Q4
a List the accessories required for Plane Table Surve%
plane table survey with its advantage.
b Write short notes on : ,‘
i.  Measurement of horizontal angle by mc‘i fR
ii.  Two point problem. e
Q.5 Exp!
a E 4
Calculate latitudes and departures 1. W
for the traverse whose details are (i).1
as shown aside: (ii).
< (iii).
(iv).
Distance | 0 (pt.P) | 20 | 40 [ 60°T 160 (pt. Q) 2.4
Offset 240 | 3.70.[4.65 685 5.60 leve
The above perpen& 'ular'offset”s W@r witl
N y the

of the y"'\r_tor_k, find the true distance.
i ayepsé._tahle.
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